20km
23 4 14 10 00
)
a b
0 0 - c=bh-a

31 30K 23 11 43 4 12 15 59 6920 b 13 11 35 7095 b 19 36 (8.9 “SV/HS)
32 30K 23 12 14 4 12 16 22 15630 " 13 10 35 16020 " 18 13 (214 uSv/sg(;
33 30K 23 12 32 4 12 16 38 9082 ™ 13 10 54 9303 ™ 18 16 (121 uSv/221)
34 30K 23 13 08 4 12 11 14 3239 ™ - - - -
38 35Kk 31 16 23 4 12 11 40 261" 13 14 16 271 26 36 (0.4 paSv/ 1(;
71 25K 23 13 00 4 12 12 19 720" 13 15 55 737" 27 36 (0.6 aSv/ 17)
79 30K 23 14 09 4 11 14 58 71417 - - - -
7 35Kk 23 12 06 4 12 16 47 453 b 13 17 16 468 b 24 29 (0.6 aSv/ 15)
1 60k 24 15 20 4 12 18 48 541" 13 19 50 560 " 25 02 (0.8 paSv/ 19;
15 35Kk 24 10 58 4 11 11 19 714" 13 13 42 7727 50 23 (1.2 paSv/ SE;
84 20km 25 10 40 4 12 11 01 98 ™! 13 10 51 102 ™ 23 50 (02 aSv/ ‘;
39 ( 45 1 10 45 4 12 17 22 197 ™ 13 14 35 210" 21 13 (0.6 aSv/ 13;
76 20km 2 11 35 4 11 10 38 113 ™ 13 12 49 137 50 11 (05 paSv/ 2‘;
80 25km 3 11 56 4 12 16 11 128 ™ 13 17 35 140 ™ 25 24 (05 pISv/ 12)
21 30km 8 13 18 4 12 15 28 3441 - - - -
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